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Read the following instruction carefully
before you answer the questions. Answer

are to be marked on a SEPARATE O.M.R.
SHEET

1.  Please write your Centre Code No.
and Roll No. very clearly (only one
digit in one block) as given on your
admission card and even zeros
appearing in the Centre Code No.
and Roll No. are correctly written in

- the appropriate blocks on O.M.R.
Sheet.
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2.

3.

4.

6.

This test has three parts. Part | has 50
questions, part Il has 40 questions

and part Il has 90 questions .

Each question carries one mark.

Since the time allotted to the three
parts of this question-paper is very
limited, you should make the best use
of it by not spending too much time on

any question.

Extra page has been provided for
rough work at the end of question

paper.
Do not mark more than one option of

any question on OMR -sheet
otherwise answer will be cancelled.

Avoid cutting / overwriting / use of
fluid on Page No. 2 of OMR Sheet
otherwise answer will be cancelled.

Attempt each question, there is no
negative marking in this test.

Language Test is treated only as a

~ qualifying  test. Marks obtained in
Languages test will not been Included

in the Total Marks

= gien & A A &1 gE A A
50 we g@R AT 40 ¥ & IR
R AT H 90T B |

T G F1 U 3P & |
4 39 geT—u7 @ A 7PN B g
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e gfedeT & aid 9 X6 Prd B for
sfaRe g e T & |
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te:Do not write anything except the

Roll Number and rough work

< anywhere in the booklet. -
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Q1

Q.2

Q.3

written as AIDRME, then how
would ADORES be written in the
same code?

AODRSE
ARDESO
(3) ARDEOS
(4) AREDOS

Which group of letters is different
from others?

(1) DCBFE
(2) JKIHL

(3) TSRQU
(4) UWXZY

If in a certain code ‘'facing
problems with health' is coded as
‘mlp hit ngi snk' 'rise with every
challenge’ is coded as "snk, rtv, Ine
riy' facing challenge each day is
coded as 'ngi riy nop hus'. 'health
problems on rise' is coded as 'hit
sartv mlp' then whose code can be
'riy snk mip’

(1)
(2)

problems every day
with health day

facing every challenge
challenge with health

(1)
(2)
(3)
(4)

If in a certain code ADMIRE is

PART-l (Wr-l)
MENTAL ABILITY TEST
qifgd g aE

Questions: 1 to 50

9.1

9.2

9.3

” ‘*rs’ ¥ ADMIRE

0|
AIDRME f3ran wran @ @ 39 a1 ¥
ADORES & fdw wor fomn

wem?

AODRSE
ARDESO
(3) ARDEOS
(4) AREDOS

frfafa e wE 4 A 39 A
e a9 W A= E7

(1) DCBFE

2) JKIHL

(3) TSRQU

(4) UWXZY

afe f&4t ‘@1’ # 'facing problems
with health’ @ 'mlp hit ngi snk' @
vsRid * ‘'rise with every
challenge' ® 'snk, rtv, Ine riy’ ¥
wefdfa & facing challenge each
day 3! 'ngi riy nop hus' ¥ weRfa
N "health problems on rise’ 3! 'hit
sa rtv mip' ¥ wEfRRfa = o fwa
'riy snk mlp' BIS & |l &

(1)
(2)
(3)
(4)

(1)
(2)

problems every day
with health day

facing every challenge
challenge with health
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Q4 A serles of small lotters Is glven
which follow a certaln pattern.
However somo lettors are missing
from the serles. You have to find
out the right set of letters from

alternatives that can be Inserted
Into the blanks of the serles.
~a_b_abaa_bab_abb
(1) aaabb
(2) ababb
(3) babab
(4) babba
Directions: (Q.5-6)

The numbers have been arranged under
some rule, Based on that rule, which
number wlill come In place of the
question mark?
Q.5 445,221,109,53,25,11,7

(1) 2

(2) 4

(3) 6

(4) 8
Q.6 6,15,35,77,143,7

(1) 1M

(2) 181

(3) 191

(4) 221

W4 ool aofaren @ o2 wel o
sjaren € mf 8, o g e 7w
¥ 7o e e @ T ¥ | e
w1 U wfl W A Ry T R
¥ ¥ oifty, Rre Rae vl ) ofif
o o W |

_a_b_abaa_bab_abb
(1) aaabb
(2) ababb
(3) babab
(4) babba
fAda (n. 59 6)

I e Prawm @ smum ov Rrd o €
I Frow @ s ) oA ares e @
WA IR B W 3w Amem?

W5 445,221,109,53,25,11,7
(1)
(2)
(3)
(4)
u.6 6,15,3577,143,7

o o & N

M 17
(2) 181
(3) 191
4) 221

e e
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Directions: (Q.7-9)

In each of the following figures,
numbers are written according to some
patterns and one number is missing,
shown by question mark. Find the
missing number that replaces the
questlonmark

Q.7

o%

(1)

(2) 195

(3) 240

(4) 275

Q.8
3 7 1
6(25(2| [11]|70|8| [4]12|5
4 6 ?

(1 1

(2) 2

(3) 6

(4) 10

Q.9

28(20] 7
84 (3512
45|79

(1) 15

(2) 18

(3) 20

4) 25

frdw (1. 79 9)

43 & ¢ v s A v PR wE
axnggswmrﬁ et EI TR AT

Y W G 8

0.7

(1) 84
(2) 195
(3) 240
@4) 275
.8 ; - 1
6|25| 2 11170| 8 41-12] 5
4 6 ?
1) 1
2) 2
3) 6
4) 10
.9
28120 7
843512
45| 7 | 9
(1) 15
2) 18
3) 20
@) 25
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Q.10 Find the letter to be placed In place
of'?"in the figure given.

(1)
(2)
©)
(4)

1

3

2

4

F

Ci

5

J

?

M
L
N

R

w.10 v v A § wva s e (7)

3 WA W P G FH JCW?

1 2| |4 8
3 |F cL 6
5 [y |7 3
2 4 [ 2

(1)
(@)

(3)
4) R

zZ =

Q.11 How many triangles are in the
given figure?

/N

(1) 1
) 13
(3) 15
@) 17

Q.12 Choose the correct mirror image of
the figure (X) from four alternatives
given along with it. The mirror has
been represented by a line MN.

Y| |AJAAA

x M @ @ @

w1 @ ¥ agph 4 ol A "

N

(1 1
2) 13
3) 15
4) 17

W12 gl (x) B Tdor § 3w o B
feard M, | Ry v ar RAel
# 9 wél oW oifey| adu @) =
MN 11 wefRfe fasar man 2

Y]AJAIAIA

x) (1) @ @ @
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Q.13 A clock seen through a mirror
shows quarter past three. What Is
the correcttime?

(1) 9:45
(2) 9:15
(3) B45
(4) 315
Q.14 Choose the correct water Image of

the figure (X) from the four
alternatives given along with it.

@)

Q.15 Among all the alternatives marked
(1), (2), (3) and (4), select the one
which satisfies the same condition
of placement of the dot (s) as in Fig
(X).

f@@

® (1 @ @ @

2\

43 o wf) wdor # @ o€ W
Msxﬂuﬁzﬂhﬂﬂ*ﬂﬂw

qa §7
(1) 9:45
(2) 915
(3) 8:45
(4) 315
a4 amgfd (x) R A dEd o AR

famﬁ"ﬂ.faﬂmmﬁum‘i#ﬂ
wi# o BT

@

%.15 Ry e ar R (1), (2),(3) 7 (4)
4 9 2 @ sy T & o srgfa
(x) ¥ zvfe T gl & W= B
fRuf % ¥ @rh &7

Lol
X

Pa\y

. O
® M @ e @

{ :1!
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Q.16 Choose the alternative which will
be formed after folding the fig (X)

Into a cube. |

* A

m~]\o

(X) c
(1) A&Bonly
(2) B&Conly
(3) B&Donly
(4) A,B,CandD

Q.17 Four positions of a dice are shown
opposite to which face number 6

s
¢

PR
(1) 2
2) 3
(3) 4
(4) 5

Q.18 Two positions of a dice are shown.
Which number will appear on the
face opposite the one having 37

&y

(1)
(2)
(3)
(4)

mmhm@

¥.16 SW Rwe 2 vifte o € T ampfa
gtT)“ﬂﬁ T o § A% W W e

0¥

L]

=P ©

(X) C D

(1) @aa A&B

(2) PIABEC

(3) @®aaAB&D

(4) A,B,CTAID
.17 T & 1R ) ar Rufedi Rard

¥ ¥ Sem 6 P W wem g
wow @ fAeda anfi?

PR

(1 2
(2) 3
(@) 4
4) 5

u.18 Uz & 9 ) 2 Rufdt Rard 1 #
A 0 & 3 Wen e vew @

facéta erft?

(1)
(2)
(3)
(4)

mmhm@
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Directions : (Q. 19-20)

In each question two or three statements
followed by two conclusions numbered |
and Il are given. Decide which of the
given conclusions logically follows the
given statements disregarding
commonly known facts. Give answer:

fdw (w. 19 9 20)

TS 9 3 ) 71 dF YA T 9D a1
2 frepd 17 11 Ry U E 1 U B T
AR gC @ o & @ @ R mn
frerd Ry T Tl @1 afdd w9 |
IRV TR B | 4§ A 9l o
8| S -

(1) If only conclusion | follows (1) ok daat Frepd | srgavor Hear &
(2)  If only conclusion Il follows (2) dfe dadt frepy 1| e dvar &
(3) Ifboth I and Il follows (3) Al T Frep 13 1| SRRy v B
(4)  If neither | nor Il follows (4) o T A frepd |1 @ Frepd o
ATEROT HAT & |

Q.19 Statements: 9.19 &Y=:-

Some pencils are blankets. %9 iR 9w ¥

All blankets are erasers. Wil I [ ¥

Conclusion: frrep:-

I.  No eraser is a pencil | ®I¥ o iR 78§

Il. Al blankets to be pencils is I ¥ Tal @ R N N

a possibility. WHEAT £ |

Q.20 Statements: 9.20 HYF:-

All stars are bottles i RER ded

Some bottles are papers T Al BT § |

No paper is a calendar ¥ N IS Barew T8 §)

Conclusion: frep:-

I. Al stars to be papers is a '-“’ﬁﬁﬂmﬁ}m?ﬁﬁﬂw

possibility WHIET B

IIl.  No Calendar is a bottle. Il B f ey, dma 78 2

ﬁgﬁﬁz
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§ the following

cate the relation
s fans, Cricket

Q.21 Which one of
diagram best indi

ship among Tenni

Players and students?
)0 @ &
(1) 2 3 @

Directions : (Q.22-23)

The questions are based on the
following diagrams. Study the diagrams
carefully and answer the questions.

Honest Advocates

Swimmers
European

Q.22 Whatis true for F?

(1) All Honest European
swimmers.

(2) All Honest Advocates who are
swimmers also.

(3) All non-European Advocates
who are honest swimmers.

(4) All non-European who are
honest swimmers.

& eﬁ‘ﬂmiﬂﬁ,ﬁﬁa
g.21 3 ' %ﬁmﬁﬂa
gufel 87

@O@D@

(1) @ @ ®

e (w. 229 23)

a8 7 ﬁawaﬂﬂﬁa.ﬁl
ﬁaﬁmﬁﬁmﬂaﬂmﬁ?
IR |

722 FRfomamae?
(1) ¥ SaER RN &R0 |

(2) '\g‘ﬁéqlﬂali’aﬁam‘rmﬂﬁ
| )

3) w FR—PATT FHe
SHHER IR 2 |

(4) W TR PR S SRR
RIPE |
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Q.23 The advocates from Europe who
are dishonest swimmers is

denoted by?
(1 J
(2) K
3) L
4) H

Directions : (Q. 24 to 25)

Radha is wife of Mohan. She has three
sons respectively as older - Suresh,
Rakesh and Satish. Bimla is only
daughter of Radha. She is youngest,
Name of their wives are Sudha, Savita
and Sita respectively. Mr Raghunath is
husband of Bimla. Suresh has two
daughters as Kamla and Sarla. He has a
son Deepak. Rakesh has three sons
namely as Sohan, Ramu and Kewal.
Satish has one son (Shrikant) one
daughter (Shobha). Bimla has also one

.23 TRY B TP W I3 NS § DY
gt o &

1) J

(2)
(3)
(4)

e (. 24 9 25)
AT HIEd B Ul 8| SHD A ASD ©

T SHS1 791 79D ¢, fm @ § 3R
5= Tl 0 B v & TS fAwan B
9% §eH B B 999 uferdl @ AW
waa: g afden iR St ¥ fuen @
afet &1 A YR 7| R A Q) e
FHA 4 WA & AR TP rsd! (Sus) B
WY B A T8 Wiew, W T dad &
e B @ deH e’ ¥ iR
w3 W | fAmen A R e

K
L
H

son (Sagar) and one daughter (Sarika). HIR®1 7 0% dST AR |
Q.24 Bimlais related to Kamla as .24 A5 31 FHA W T TR 22
(1 ) Sister 1) T&
(2) Aunt 2) am
(3) Niece (3) wiron
(4) Grand Mother (4) =
Q.25 How many members are there in | ¥.25 TRaR ¥ gof fas wawg &7
the family?
(1) 16 (1) 16
2) 18 (2) 18
(3) 19 (3) 19
(4) 20 4) 20
————————————————  EE————————————————— ————

"
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3 vt wd g i,
Q.26 B, the son of A was married to C, | %.26 B,A®I W7e :;, e ng; 3
whose sister D was married to E, ot eI DHE '
the brother of B. How Dis relatedto Ba WS 21 DFA J T T B
A?
(1) Sister (1) 981
(2) Daughter-in-law (2) gFaE
(3) Sister-in-law (3) ATl
(4) Cousin (4) NI FEA
Q.27 Ram walks 20 metres in front in | 527 Y™ 9™ x4 ¥ 20 Hiex gl 2 3R
east and 15 metres to the nigr: R 15 dtex g feedt 3R i
Then every time turning to his left, o T SR AL
he walks 5, 30 and 25 metres mﬂ:‘:" agxﬁa ?i
respectively. 5,30 3R 25 el
How far is he from his starting a7 T AR v @ e [
pointand in which direction? ort v RAm A &1
(1) 5Smetres, South (1) 5, =
(2) 10metres, North 2) 1 0#rer. IR
(3) 15metres, North (3) 158, IR
(4) 20metres, East @) 203X, ‘1.&
Q.28 (a) PxQmeans Qis mother of P; 7.28 PxQ®1 30f 2 P AT QR |
(b) P+Qmeans Pis father of Q; P+Q &1 3 & Q&1 P 21
(c) P-Qmeans P is brother of Q; P-Q@RfzQF WE PRI
(d) P+Qmeans Qis sister of P. P:QF 3 | PH QEE B
Which of the following means 'M is fr=fafaa 4 Q e anf 2- T
nieceof T'? A R M
(1) M:D+TxR (1) M=D+TxR
(2) T-D+R+M (2) T-D+R+M
(3) TxD+R+M (3) TxD+R+M
(4) D+M+R-T (4) D=M+R-T
m—_——_——
12
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Q.29 Six sides of a cube are coloured in

the following manner.

Blue rang

e’ o'

White Black

If Blue and Orange are opposite
and Red is on the top, which colour
will be at the bottom?

(1) Black
(2) White
(3)
(4)

Orange

Yellow

Q.30 Eight students A, B, C, D, E, F, G

and H are going to college in two
cars and following are conditions -

There are four students in each

car.

A is in the same car in which D is
sitting but His notin the same car.

B and C are not in the car in which
Dis sitting.

Fis sitting with Aand E.

Four students sitting in the same
carare:

(1)
)
@)
(4)

A,B,GH
B,D,F.G
B,C,GH
A,C,D,E

13

9.29

9.30

fe M|

Blue rang

d o
White er Black 4

af2 Blue @2 Orange fawdia gl
W 8 91 Red SN & U W & @
9 & g W P A B

(1) Black

(2) White

(3) Orange

(4)
e faemfi A, B, C,D,E,F,GaaT H
3 FRI | Pfeidl 39 TPR o1 W& &
& e PR 3§ TR faemef 2

Yellow

ASH PR 4 931 ® o D da1 2
W H3H &R & 781 8

BT C 99 &R ¥ 78 & R D
P/

FSU SR A da1 & ol ATen E 93
gl

TP & PR ¥ ¥ IR faemeff 2

(1) AB,GH

(2) B,D,F.G

(3) B,C,GH

4) A,C,D,E

———— e
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Q.31 There are four friends A, B, C and

D. One of them is a student of
Biology and plays football and
basket ball. A and B study
chemistry. A plays table tennis.
Both the chemistry student play
volleyball. D is the student of
physics. One chemistry student
also plays cricket. The Physics
students plays volleyball and
carom. All the friends play two

games and study one subject
each.

who does not play volleyball?
(1 A
(2) B
3) C
(4) D

Q.32 27 small cubes are placedinsucha

way that a big cube is formed?

ST 7
ST T,
/1
1/
Al /)

How many cubes are touching
cube marked A?

M 8
(2) 8
@) @
4) 17

%31 ABCANDIR A E SHH A &

wiia s &1 BT ¥ 9u1 Gedrd 9
TRDBE g1 Wordl 81 AT B TH1aH
A Ugd B1 Aqd A e &
2 T v @ faemedt atettara
Ao ¥ D NRT wrem @ faemeff 2
e v e 3 e fhae i
Foa &) e we @ fRaed
dfftarad aon P9 Ao Bl TS
firs 2@ Qe QAo & @1 @ AR
el B |

P atchara 78 Qe 87

(1)
(2)
3)
(4)

o0 w >

¥.32 27 BIR ¥4l & 39 WPR @ AT

CAGK R SR IY

[ S S
[ S S

A

foa o= A g sifda w= @ wdd
PR 7
(1) 5
(2) 8
3) 9
4) 17

e

14
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Q33 A ranks fifth in a class. B is eight
from the last. It C is sixth after A
and just in the middie of A and B,

How many students are there in
the class?

(1 8B
N
25

2

@
)
@)
Directions (Q 34-35)

Six persons A, B, C, D, Eand F are sitting
forming a circle and facing towards
centre. B is between A and C, E is
between F and D. F is sitting straight

opposite to Aand right to E.
Q34 D is between which of the
following pair?
(1) EF
(2) AE
3) AB
4 CF

Q.35 If the positions of B and E are
interchanged and also thatof C&D
then D will be in between which of
the following pair?

(1)
(@)
(3)
(4)

CcB

ED

FD

FE

wds v oan & A @i Ve el R B
AR O el e we R 4R G A9
W o e e Ad B die e 4
@ o man N et (e Reed] &7

(N
(@)
()
(4)

v (. 34 @ 35)

o it &3 A, B, C, D, E vl F yar gl A
oW W 43 R Ry wwad e qo @ dew o
YR B AT C o diw N Xor ¥ EF
o D@ dha N R R FE A St v
e Ed gt ol o R

R34 R g @ @ § D o1 A7

(1) EF
(2)
(3)
(4)

W.35 afX B wen E @ v qvwy gae fag
WIC w1 Cu D @ v off waw Ry
WIC & D v g o e gym?

AE
AB

CF

(1) CB
(2)
(3)

(4)

ED
FD

FE

— - =

15
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Q.36 How many quadrilaterals are there
inthe given figure?

(1) 20
(2) 22
(3) 24
(4) 26

Q.37 Which one of the answer figure
would occupy the next position in
the problem figure. If they continue
inthe same order.

Problem figure

Answer figure

— —

I Il Il

N=ll=Ill{=ll=|=Ill=
(1) (2) (3) (4)

Q.38 Four figures have been given, of
which three are alike in some way
and one is different. Choose the
odd one.

SEAN
(3)

(1) (2) (4)

.36 & 7E gl g fvew agfw €7

(1) 20
2) 22
(3) 24
4) 26
.37 IR} wHe gl W w9 | a1
A T W W W Agfadi H A
a1 W arpfa = areEh |
srrean g
=lI Il I

===

=== ==l —

I I i

(1) (2) ) (4)

.38 W} rqferdl & ¥ € R @ A=
Fpfodl 0 R ¥ v # iR
S argfa = &1 = angfa &t

BlA

(1) () (3)

Scanned by CamScanner




Q.39 Figure (X) is embedded in one of
the given four figures. Trace out
the correct alternatives.

X

(x)

M @ @ @

Q.40 One segment of the given

design/pattern is missing. Select
the alternative which will complete
the design when placed on the
missing area.

Incomplete figure

Answers figures

pd
(1) (2) 3 4)

The first unit contains two figures
and the second unit contains one
figure and a question mark. Find
out which one of the answer
figures should be placed at
question mark.

Problem figures
v 4 »
O

”

ANY
m
v

A
C-»
Answer figures

7.39 ford (x) R o o W forlf 4 @
farel was ¥ = venfira fasan T 8

ofYra e Bifey)

X [X

(x) (1)

(2) (3 (4)

5.40 R 7Y T/ AT B 0B I
g &1 36 RAww @ gfi o ga
WA R @A W ARG/ T

P I B 2|
sl fort

s 3

pd
(1) (2) 3) (4)

n.41 vEell 3o ¥ < arpfadi @ 7 gd
P13 4 U3 Igfa o uv )
7 e & s amapfaai F }
I A Il v e @ WA w
gt |
W Aot

V -
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Q.42 Find the missing number In the
series.

1,2,2,4,16, ? ,65536

(1) 276
(2) 256
(3) 198
(4) 64
Q.43 Fl+2= 5

5+6=61
Then3+4=27
(1) 15
2 25
(3) 31
4) 34

Q.44 Figure below represent a balance
which symbol replaces(?)

[]

AQO
/\
O A
~ ANANN
AANAN ?
7~ @

@20 @A @AQD

(1)

v.42 € ¥ wEm B
@fore |
1,2,2,4,16, ? ,65536
(1)
(2)
(3)
(4)

.43 afe 1+2=5
5+6=61
o 3+4=7
(1) 15
(2) 25
(3) 31
(4) 34

H.44 R D o 3§ v gen e e

H¥aTES g (7) @ M w a
fere & o waar &

?:Fliiunaﬁ

276
256
198
64

O

JAVAVAVAY ? O

/\

(1 L] @O oA @ AO

_TNB
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Q.45 An application was recelved by the

office clerk in the afternoon of a
weekday. Next day he forwarded It
to the table of senlor clerk who was
on leave that day. The senior clerk
next day evening put up the
application to the officer
concerned. The officer studied the
application and signed on the
same day i.e. Friday which day the
application was received by the
officerclerk?

(1) Tuesday
(2) Wednesday
(3) Monday

(4) Thursday

Q.46 A monkey climbs 10 metres at the

beginning of each hour and rest for
a while when he slips back 5
metres before he again starts
climbing in the beginning of next
hour. If he starts climbing at 8 am,
at what time will he first touch the
flag at 50 metres from the ground?

(1) 4pm
(2) Spm

(3) 6pm

(4) 7pm

u.45 wrafera fiftw @ @ med o
wore @ U A W T qT
e w A R WA aRe
Rt @ gra Nfe v T o
v fa9 ged w il e e
3 are R+ wrd WA o wRifRe
st sege R sifdrd A
qref o3 o sreaA R aen s
A gwer ow Ry afk mef o=
W AR B AP FT TRNER
faw v & @ wafaa fAfe Zm
el o) v 3= v R man?

(1) HIER

(2) g¥aR
(3) WHAR

(4) TEHTOR

.46 TP ¥R UAF 6 B ¥ A 10 Hex
Tgal & auwl 1P am @ fog fasm
B & WY WA T B Y §
SRT T3 N TEA 7€ 5 W fhwa
o | AfR 78 8 a9 WTa: w e
WA 50 W I W B B
T WY R Y

(1) 4999 .
(2) 599 EY

(3) 679w

(4) 799 9y
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Q.47 If AXB means A and B are of the

same age. .
A+ B meansAis younger than &.
A-B means Bis younger thanA-

Then Sham X Mohan — Reeta + Arif
means:

(1) Reetaistheoldest
(2) Reetaistheyoungest
(3) Arifisthe youngest
(4) Arifis younger than Sham

Q.48 If the digits 0,1, 2, 3,4,5,6,7,8,9
are substituted by a, b, ¢, d, e, f, g,
h, i, j respectively so that 135 is
written as ace then
(efx f—ba) +edis equal to:

(1) 2
(2) 3
(3) 4
4) 5
Q.49 P, Q, R, S are four statements such
that

IfPis true, then Qis true

ifQis true, then Ris true

If S is true then at least one of Q
andRis false.

Then which of the following is
correct?

(1) IfPistruethen Sisfalse

(2) If S is false both Q and R are
true

(3)

If atleast one of Q and r is false
then Sisfalse

(4) IfQistruethenSis true.

4.47 af2 AxB ¥ A9 AT By

B8
A+B A acTd A, B Bler ¥

A-Bd a9y B,A¥ Bier

at

o™ x HIEA - a1 + 3lRe A
3
(1)
(2)

o

SEIRESES RS
O \e BIE & |
(3) 3R WeH BT & |
(4) SRG A A BICTE|

n-"a ﬂﬁ0,1,2,3,4,5,6,7,8,93iﬁ$}a‘
b,c,d,e,f,g,h,i,j ™1 9RfT a3
R 135®! aceformr w21 @

(ef x f—ba)+ed §HIM &:-
(1) 2
(2) 3
@) 4
4) 5
749 P,QR,STR WA sy 8l >

MR PATENQEAE
IARQTIEARITE
MRsTEdQanRIIFS
9 TP AHT &

at R=fafaa 4 @ 29 o1 [ed
e #?

(1) IRPumEd SImAE!
(2) 3R Sawea & a@rQaRIAT
HAE|

afe Q@ R § ¥ $9 9 39 02
IJFF eI SITA L

afe QuE e SHA B

@)

(4)

w
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Q.50 Consider a99 digit number created

by writing side by side the first fifty
four natural numbers as follows

12345678910111213......5354

The above number when divided
by 8 will leave a remainder of

(1) 6
(2)
(3)

4
2
4) 0

7.50 Ugel 54 AT WS B UF B

Y TP forE W 99 AP P TE
=1 saR a8 T8 §
12345678910111213.....5354

IR G&n & 8 9 fufora
R 9B BT |

(1) 6
(2)
(3)

4
2
4) 0

Questions: 51 to 90

PART-ll (ami-ll)

LANGUAGE TEST (wr1 gdieur)

English Language
Note: Must fill Language Option of
Page1 at Sr.No. 3 of O.M.R. Sheet

Directions : (Q 51 - 55) Read the
following passage and answer the
questions given after it:

The manager of a well-known firm was
interviewing applicants for the post of a
night watchman he had advertised. He was
very hard of please and always found
something wrong with each man-one had
long hair, another small eyes, a third was
too thin and another too tall.

Among the applicants interviewed by the
manager for the post was one Ram Krishan.
He watched all this as he sat in the
verandah patiently waiting for his turn to be
interviewed. He resolved to be prepared for
anything. When his turn came, all went well.
The manager found nothing wrong with his
appearance, size or constitution. He was
handsome, tall and strong. The manager
was really pleased to see such a well-built
youngman.

= W
e : 3l T, IR, e B 7% 1P TS 3
H 9191 &1 fAdeey 3avg WX |

fdw : 999 we fAees 1 7= Fifo-
u.51 Frafafa 3 & sfera avf &)
(1)
(2)
(3)
(4)

U.52 ‘S’ I ¥ &9 St &1 gam
gL

(1)
(2)
(3)
(4)

S
g
S

[

b
Ak!
k!

-

|

m
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"Is your health sound?" said the manager at
last,

"No sir" replied Ram Kishan," not quite. |
Suffer from one serious complaint".

"What's that?" asked the manager sharply.
“Sleeplessness", came the prompt reply.
The manager was so pleased with the
young man that without questioning him
further he appointed him.

Q.51 The manager always found
Something wrong with each man.
This shows that he

(1)  was not interested in selecting
any one for the job.

(2) wanted flawless person for the
job.

(3) wanted the applicants to prove
themselves fit for the job.

(4) he had a habit of finding faults
with other.

Q.52 The manager rejected all other
applicants for want of......

(1) goodlooks
(2) vigilance
(3) goodhealth
(4) wisdom
Q.53 Which of the following is
incorrect?

(1) Ram Krishan was ill and badly
needed a job for his treatment.

(2) the manager did his job quite
responsibly and dedicatedly.

(3) The other applicants were not
really suited for the job.

(4)  Ram Kishan did not suffer from
any ailment.

.53 f=fefa 3 % o
SRy

(1) o=
(2) W
(3) fewh
(4) AR

n.54 YU = &1 B9 W wR
&7 Ry

(1) g+gfa
(2) g+
(3) GIT+3
(4) gyq+fa
.55 T + g9 3t | |
(1) W
(2) T
(3) W
(4) T

u.56 Hien & W @vs A fw www @
I Bren B -

(1) 3regdmg

(2) TRy

(3) &%

(4) wgdiR

W.57 ‘QuUTHH’ faw WA @1 See 8

(1) 3rdmTg

(2) w<goy

@) &=

(4) wgdife

e
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Q.54 Why did Ram Kishan say the he
suffered from sleeplessness.

(1) To test whether the manager
could fail him.

(2) Toprove that he knew well what
his job required

(3) Toshowthathe washonestand
truthful

(4) To be frank and not to conceal
anything.

Q.55 Ram Kishan got the job because he
was?

(1) intelligentand polite
(2) poorand needy

(3) handsome and healthy
(4)  witty and watchful

Directions : (Q 56 - 60) Read the
following passage and answer the
questions that follow:

The first sight of the Great wall of China
stretching along the mountains like a
gigantic snake is breath taking. The thought
that comes to mind is what amazingly grand
structures have come up with seemingly
limit less man power. The Kingdoms of the
5th Century BC built the earliest sections of
the wall. For thousands of years, the wall
protected China from the barbarian attacks.
The purpose of the Great wall was not only
to keep out the Huns from the North, but
also their horses, as the Huns were
ineffective as warriors without their horses.
Once intended to ward off enemies, today it
brings peoples of the world together. The
government is cashing in on what is
undeniably one of the greatest
achievements of civilization. A visit to
Beijing without a trip to the Great wall is
useless. Many tourists brave, young and

7.58 R W 1 4 ¥ | aeam 3
forg g 21

(1) o gfe & Fa1 &
(2) F7aR F FRH TES g
3) frmziamaa
OERELEE R

59 frafofs § & @9 @1 B2
e gl

(1) =&
(2) €Ra
(3) g
(4) T

9.60 ‘& di o= RS =) R 3
. B PR 2

(1) ST
() w3
(3) I
(4) T

61-64 fRe v Raa Wi 3§ waits siRe
fawes gfg

561 vedow  oRt wRsm ¥
Sarfiao 3§ oRad= aga I @ 8

(1) J&gE
(2) 9RuFE:
3) e
(4) S

ﬁ
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adventurous-set out to climb the Great wall
though the steep steps which become
da Ngerously, slippery when it rains.

Q.56 The great wall is called a gigantic
Snake because......

(1) the Chinese people worship
snakes

(2)

the big snake lives on it

(3) itgoeszigzaglike a snake

(4) it has the same designs as on
the back of the snake.

Q.57 What surprises a visitor most is

the..........

(1) number of days in constructing
it

(2) number of stones and bricks
used

(3) number of people who built it

(4) amount of money spent in

constructing.

Q.58 The purpose of constructing the
wallwas

(1)

to keep away the wild animals

(2) tokeepawayHuns
(3) tokeepawaytheirenemies
(4) to keep away Huns and their
horses
Q.59 One indirect advantage of the wall
is......
(1) better protection
(2) more money
(3) more fame
(4) more visitors

24

(3)
4) fiemae
9.63 WAW PA MIM...... B Wy
&% WIS 7 IrgaTe gam ¥
(1) -es
(2) VTR
(3) wErFT™
(4) ST

.64 B TE e A
B 7|

(1) &=
(2) e
(3) =M
(4) =
.65 Tas ST 31 3ef ¥
(1) 3 95 B
(2) T B
(3) T q B
(4) TN ATE BRAT
9.66 ™ 9 WM 3iT 231 &1 3ref B
(1) 2 ST 3 e =& ol
(2) SeTeT e A

(3) TR aren werel A1 A € 9
CERIn

T Q1Y TR B R A

o f g

(4)

—— R
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Q.60 The words from the passage which
means the same as 'savage and
huge'are

(1)
(2)

greatand amazing
breath taking, amazing

(3) amazingly and breath taking
(4) barbarlan and gigantic.

Directions : (Q 61 - 65) You are provided
with first (1) and last (6) parts of a
sentence. The remaining sentence Is
broken In to four parts. labelled L,M,N
and O. Arrange these parts so as to form
a complete meaning ful sentence and
select the correct optlon of the
combinations given below:

Q.61 1. Sabinareached her house at

5 p.m.and

(L) then there was a huge

explosion

(M) no sooner

(N) had she gotout of the taxi

(O) and it went up in flames

Producing darkness in the sky.

(1) LMNO

(2) MLNO

(3) MNLO

(4) NOML

To much of the world

(L) Which produces radio and
television

(M) it is science

(N) by aero planes and
satellites

(O) and which conquers space

Through sophisticated

technology

(1) MNLO

(2) MLON

(3) LMNO

(4) NMOL

Q.62 1.

9.67 ‘e w¥ # viref A’ m s B

(1) ared) Al A e

(2) e # yed) A g 4 g e

(3) B y® Ul Al

(4)  BCEH G EAl
w.68 aifa % ya wiwwn w1 ad B

(1) v &

(2) g1 ufEr

(3) &I

(4) U Bl
69-70 Pr=fafrm # & wft o wafa
Ladl
9.69

(1) 4~ wren aify afs & ga
aiftry 3 wgpepy el
Wy qifa aof & gz 4w
=y A agege gl
Sy A T drel
IS & gA drew adfy 4R
Sfoa=y = Aoy @el

(2)
(3)
4)

9.70

(1) ¥R 4F TR IR A g

veIfiafl & @a % 91 9EY

IR TR Wead gU 9d g
yeifrdl & @ # o g

AR 49 gl & @a § 3R
QLR W §Y o TE

AR TRIfd] @ W ¥ 3R SER
TH §Y 9 O UgY

(2)

(3)

(4)

IS = e ———————————
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Q.63

Q.64

Q.65

1.

1.

It was

(L) grandeur

(M) the gigantic

(N) inside

(O) all

palace hall

(1) LMNO

(2) OMLN

(3) NMLO

(4) OLMN

In this stage of the world

(L) that their gross ignorance
of one another should be
diminished

(M) it is essential

(N) when many nations are
brought into close and vital
contacts for good and evil

(O) as never before

That they should begin to
understand a little of one
another's historical
experiences and resulting
mentality

(1) LMNO

(2) LONM

(3) LMON

(4) NMOL

If the sword fish really

attacked

(L) itcould have cutit

(M) and that would have been

(N) topieces very quickly

(O) tt)q rubber raft with its
vicious sword

the end of the experiment
(1) LMNO
(2) OMNL
(3) OLNM
(4) NMOL

.74 “HET TP ATy B 6 yroprg
Fagail

(1) Sm=draD
(2) TEEED
3) REaTs
(4) HEHAAD

7.72 ot feneff oRsm @wan &, @@ qfie
3 3Gv] 9%e 8l B U8 a1 3
P IS |

(1) "R
(2)' sy a7
(3) HgH AT
(4) SHYFH ¥ P TE

0.73 ﬁﬂwﬂﬂﬂ-gﬁa? a1 H ¥qFifhg
US H P 9 SRS B

(1) &t
(2) »

3) WM
(4) W=y

e : 74-75 it v & ot wifa
aafa o |

974 WIG T daw e wafy @ @
@ 9T 78 2 qren ¥

(1) Rer
(2) Fgeran
(3) wgRa
@) wO=ar
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Directions : (Q 66 - 71) In the following
passage there are some numbered
blanks. Fill in the blanks by selecting the

most appropriate word for each blank
from the given options :

In the northern India, (66) in
Haryana and Punjab, the Arya Samaj had
(67) a campaign to eradicate (68)
evil of untouchability. The

Arya Samaj (69) recognize caste
distinctions. The onslaught (70)

untouchability was carried on in a more (71)

way by Mahatma Gandhi.

Q.66 (1) Specially

(2) Generally

(3) Particularly

(4) Selectively -.
Q.67 (1) Started

(2) Launched

(3) Moved

(4) Pushed
Q.68 (1) The

(2 A .

(3) An "'

(4) Some
Q.69 (1) Donot

(2) Doesnot

(3) Wasnot

(4) Willnot
Q.70 (1) For

(2) With

(3) By

(4) Against

%.75 uRsm aft Frena &t e
(1) @
(2) 3MPRY
@3) T
(4) frsreHE
e : 76-77 Y@ifda vg &1 Sfaa fawm
JqHd B |
V.76 Ahadl B 4T GAPY WaE! g4 B
gl
(1) =<
(2) fawrg
(3) &M
(4) e

N.77 TR B @ Piofee a@aR
Pl JAGHAT 2 |

(1) 3remh

(2) dTcpiferd
(3) PEBRI
(4) ST

9.78 WwERTIEW = @t 39 @ ach
A T

(1) 9

(2) o

(3) @

(4) Hfeh
‘goar’ fa wfd 3 vam @2
(1) wa

(2) @<

(3) foRmem

(4) fReax

.79
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Q.81 Ishall see him....... :
(1) beforelshall leave for Englan

(2) before | leave for England
(3) before | have leftfor England
(4) before | would be leaving
England
Q.82 The doctor warns him that unless
he gives up smoking......-
(1) willhebe able to recover
(2) he will not suffer
(3) his health will soon be
recovered
(4) hewill notrecover
Q.83 When | met her lastyear.......
(1) she had married since five
years
(2) she had been married for five
years
(3) shewasma rried five years ago
(4) shehadbeen married since five
years.
Directions : (Q 84 - 87) In each the
following sentences, out of the given
alternatives, choose the one which
comes nearest to the meaning to the
italic words:

Q.84 Repeated attacks on his works has
rendered the author ‘immune’ to

criticism.

(1) exempt

(2) hostile

(3) disturbing

(4) insensitive
Q.85 The situation is more ‘grave’ now

thaniteverwas.

(1) dangerous

(2) serious

(3) complicated

(4) uncontrollable

for

us'{'{_‘,‘[{ﬂé’ﬁ*ﬁaaﬁmﬁwﬁﬁ

o o T ¥

(1) yrepfares TS P AT
2) e B AR

(3) TEa T

4) el Ger T

mg;ﬂgwaﬂwﬁmwm

o1’

(1) ST I | A

(2) @R 9 a3

(3) eTEH <dd B el T DT

(4) ARG P
n.asgiwﬁwammmaﬁ

(1) S ET

(2) FA P AR &

O RUGEEESRCER]

(4) (=TT S5

.90 e 3l Ry 2 g R #1 ™
{4
(1) TR AR gSHl
(2) ¥rEdARH=E
(3) We—ag

(4) A H TPl

ﬁ

30

4

Scanned by CamScanner



[t

Q.86 The value of some shares has
‘appreciated’ considerably in the
last two months

(1) changed
(2) increased
(3) depreciated
(4) crashed

Q.87 The soldier displayed ‘exceptional’
courage and saved the Mayor from
the enemy

(1) new

(2) strange
(3) abnormal
(4) unusual

Directions : (Q 88 - 90) In each the
following sentences, choose the word
which is the opposite in meaning to the
word in italics, as used in the given
sentence.:

Q.88 People are unwilling to ‘follow’the
rules.

(1) forget

(2) disregard
(3) neglect
(4) dispose

Q.89 When Manjula entered the room,
she was in a jubilant’'mood.

(1) depressed
(2) defeated
(3) thoughtful
(4) serious

Q.90 Rahul is extremely ‘intelligent’ but
proud.

(1) simple
(2) ignorant
(3) dull

(4) weak

L
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